Domain & Range Homework Day 2

[image: Macintosh HD:Users:boruch:Desktop:Screen shot 2015-09-11 at 6.56.46 PM.png]DIRECTIONS:  For each relation, state the domain and the range.  Then explain whether or not each relation is a function, as well as why.  
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Check your answers on the next pages. 
SOLUTIONS
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Domain: left, right Domain: left, right Domain: left, right
[-1.2] (-infinity, infinity) [0,2]

Range: down,up Range: down,up Range: down,up

2.2 [-2,infinity] -22]
This relation is not a function. This relation is a This relation is not a
The Vertical Line Test fails, function, since each function. It fails the
because many inputs correspond oo creztes one and Vertical Line Test, since
to more than one output. only one outpt. every input corresponds
For example, the input of 0 maps to two outputs. For
to outputs of both 2 and -2. example, when 0 is put in,

the resulting y-values are
-2and 2.
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Domain: {-2

Range: {0,2}

This relation is a function,
since every x-value
corresponds to one and
only one y-value.

Domain: {-2,-1,1,3}

Range: {-4,-2,0,1}

This relation is not a
function, since the x-value
of -2 corresponds to both
y-values of -2 and -4.




image6.png
masfifac i
Dp
EEEE I} ]
Domain: feft, right Domain: feft, right Domain: feft, right
[-2,infinity) (-infinity, infinity) (-infinity, infinity)

Range: down,up Range: down,up Range: down,up

(-infinity,infinity) (-infinityinfinity) 2,11
This relation is not a This relation is a function.  This relation is a function.
function. It fails the Each x-value corresponds ~ Each x-value corresponds
Vertical Line Test, since to exactly one y-value. to exactly one y-value.

most inputs corresponds
to two outputs. For
example, when 2 is put in,
the resulting y-values are
-2and 2.








